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1. Answer the following questions : 1x10=10
o] SRS Geq e

(a) What is ordinal utjlity?
BRI oo 2

(b) Define indifference curve.

FReers @ g fran o

() What is inferior goods?
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(@)

(e)

(g)

(h)

(i)

()
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(2)

Mention the law of demand.

SIS S 4 |

Define substitution effect.

s Retes iger fan

Mention one method used to evaluate
the financial aspects of a project.
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What is budget line?
S @1 9

Define price consumption curve.

eI (IR i@ i |

What is meant by iso-cost line?

TR (321 et 6 gy 2

What is meant by normal profit?
S =T Ifereal o gom 2

( Continued )

(3)

2. Answer the following questions briefly : 2x5=10
To 2CRAE TS Teq fira

(a) Write the two factors affecting demand
of a commodity.

51 959 BIfRAT 1S3 1 {51 Soime for<i |

(b) State two properties of indifference
curve.

foReor® (319 o1 (IS Soad 4 |

Mention two measures to control
risk.

wzzp] foraerd 51 Tl Tea < |

State the two assumptions of law of
variable proportion.

sRRSTE Sere RRT 101 wfSumer Saw
E Il

() What is meant by optimurﬁ

combination of factors?

Tome Acdren e e [ gmm e
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3. Answer the following questions (any four) :

(4)

(e)

(5)

What is inter-temporal choice? Explain

5x4=20 briefly the importance of lending or

TAq W Teq ot (R e wifkbt) - inter-temporal choice behaviour of the
. consumer.

(a) Analyze the slope of demand curve for HBTHNS “[5% & 2 (SIS TBSITHANS 4TS

a Giffen good from price consumption
curve.
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Explain the concept of total product,
average product and marginal product.

P TeomE, A6 TeATH SE aRE T
(p) What are the differences between YN YO 90

market price and normal price?

WWWWWW’W’[{.
R

. Answer the following questions (any four) :
10x4=40
o A T o (R e wifsi) -

(a) Expla.m the concept of consumer

(c) Briefly discuss the equilibrium .
equilibrium with the help of indifference

conditions of a firm under

competition. curve.
Ao oS @Bl SR ST fRTeers (TR RS (SIS SR AR
SR HYF SIS ¥4 | AN

(b)) Explain how ' equilibrium price is
determined in short-run under perfect
competition. . 2+8=10

TS JRREPCET RS SR W
@S e 91 =, TN A

(d) Explain how the long-run average cost
curve is derived.

w1 I @ Py ffa s =,
A 0
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(6) o

(h) Discuss the various  stages otf‘
production with the help of law o

variable proportion.

(c) Define isoquant. Explain its properties.
2+8=10

TERAT (R e | R wfErmz
T <54 |

(d) What is expansion path? Explain how
it is related to changes in cost and

production of output, 2+8=10
wcmwﬁs?ww%aw%a
11 2 e STt =, e <y |

e) What is perfect competition?
Explain the characteristics of perfect
‘&competition. 2+8=10
o

v &
ST ‘ :

~ Nao” [P Discuss dlagrammatlcally the laws of
returns to scale.

%wwmﬂ%mﬁﬁm%mm@w
|

(99 How does change in rate of interest
affect present and future consumption
behaviour of the consumer? Explain,
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